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IE 1L SE% ouT IN | GROSS [ HDCP NET BE [ SnES ouT IN [ GROSS | HDCP NET Bz
B M| R BX 43 41 84| 120 72.0 |A%E 4 6| B EE 58 55 113 | 34.8| 78.2
BB —2E T 47 43 9 | 16.8 | 73.2 |AHE 42 47 | BH EE 50 50 100 | 21.6| 78.4
3| AH E= 43 39 82 8.4 73.6 |AH 43 1 | mA5H F 51 55 106 | 27.6 | 78.4
4 61 |EH B 46 42 88 | 14.4| 73.6 |AHE 44 15 | B R 54 52 106 | 27.6 | 178.4
5 i | Rk sk 47 45 92 | 18.0 | 74.0 | A% 45 fi | BRA FkE 53 52 105 | 26.4| 178.6
6 £ | HEH BEX 38 40 78 3.6 | 74.4 |BG AE 46 {31 | FF)Il BI& 47 45 92 | 13.2| 18.8
76| BH ESR 41 43 84 9.6 | 74.4 |AB 47 4 |EHE = 50 47 97 | 18.0| 79.0
8 fif [hOEE BEF 53 48 101 | 26.4| 74.6 |AH 48 fi |BEE EEA 49 48 97 | 18.0| 79.0
9 i |F/H 25 43 39 82 7.2 | 74.8 |AE 49 fif 1L/ k EE 52 44 96 | 16.8 | 79.2
10 4% | 56 E 44 43 87| 12.0| 75.0 | A% 50 £ | A BB 48 54 102 | 22.8| 79.2 |R/UE
16| %7 & 44 43 87| 12.0| 15.0 51 i | KIE {R5E 55 47 102 | 22.8| 79.2
12 61 | INE 49 49 98 | 22.8 | 15.2 52 fif | IR # 51 43 94 | 14.4| 79.6
13 4| A/ B 46 45 91 15.6 | 75.4 53 fif | #Bl BEE 49 45 94 | 14.4| 79.6
14 45 | ¥Rl 3R 43 41 84 8.4 | 75.6 54 fii | KB 53 53 106 | 26.4| 79.6
15 i | HBA i 48 42 90 | 14.4| 15.6 55 i | /VRK A 53 46 99 | 19.2 | 79.8
16 i1 | E# 21T 45 44 89 | 13.2| 75.8 56 i |HTEA 1EA 52 46 98 | 18.0| 80.0
17 61 | &HR 13 45 42 87 | 10.8 | 176.2 57 fi | A:E fEX 52 44 96 | 15.6 | 80.4
18 15 | {35k 47 52 99 | 22.8 | 16.2 58 i | hnik 13 49 40 89 8.4 | 80.6
19 1 | ISR 84 45 41 86 9.6 | 76.4 59 fif | && EX 57 50 107 | 26.4| 80.6
20 fif | AT FERE 49 43 92 | 15.6 | 76.4 |RUHE 60 13 | imiE #— 52 47 99 | 18.0 | 81.0 |RUE
21 3 | hOfE FEX 49 43 92 | 15.6 | 176.4 61 1| 28 & 51 54 105 | 24.0| 81.0
22 {4 |1XA =F 47 45 92 | 15.6 | 176.4 62 i | ER FNK 50 47 97 | 15.6 | 81.4
23 fi | &l B 51 47 98 | 21.6 | 176.4 63 i | #A —iff 49 50 99 | 16.8 | 82.2
24 i |W&3E FHER 51 47 98 | 21.6 | 176.4 64 1| LB ER 51 51 102 | 19.2 | 82.8
25 fi |BAO Bl 50 41 91 14.4 | 76.6 65 i | 1RHE T 58 50 108 | 25.2 | 82.8
26 £ |t {E—EB 47 44 91 14.4 | 76.6 66 i |3 mE 62 51 113 | 30.0| 83.0
27 41 | ¥t £ 45 39 84 7.2 | 176.8 67 7| A+a B 58 54 112 | 28.8| 83.2
28 fif | B # 43 47 90 | 13.2 | 176.8 68 i | /B {E= 56 53 109 | 25.2 | 83.8
29 {4 | A BE= 47 42 89 | 12.0| 77.0 69 fii | $ik BE 62 58 120 | 36.0 | 84.0
30 i | Mok RA 52 43 95 | 18.0 | 77.0 |RUH 70 1| R FEA 54 58 12| 27.6 | 84.4 |RUE
31 4L |EA Bk 54 47 101 | 240 77.0 71 1| s FE 64 54 118 | 33.6 | 84.4 |[BBE
32 {5 | M E— 48 46 94 | 16.8 | 77.2 72 11| =% 288 64 65 129 | 36.4| 92.6 |[BME
33 4L |AF Ef 50 50 100 | 22.8 | 77.2 |470E
34 {35 | 1WA MK 47 39 86 8.4 | 71.6
35 fi |ILUE BE 50 48 98 | 20.4 | 77.6
36 i | hek Eif 46 45 91 13.2 | 71.8
37 fi | HR FIB 44 47 91 13.2 | 71.8
38 4 |EA & 47 43 90 | 12.0 | 78.0
39 {3 | KM #H= 48 41 89 | 10.8 | 178.2
40 43 |\ EBH 53 42 95 | 16.8 | 78.2 |MUHE




